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(W) D L d Xmax. G
ACDO1| 1W  |4.3[0.169]| 11[0.433] 2 63+1[2.480+0.039]
ACDO03| 3W |4.8[0.189]| 13[0.512] 2 63+1[2.480+0.039]
ACDO4| 4W |5.5[0.217]]16.5[0.650]| 0.8+0.03 3 63+1[2.480%0.039]
ACDO5| 5W |7.5[0.295]| 18[0.709] | [0.031+0.001] 3 63+1[2.480+0.039]
ACDO7| 7W |7.5[0.295]| 26[1.024] 3 73+1[2.874+0.039]
ACD10| 10 0[0.315]| 44[1.732] 3 +1[3.465%0.039]
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mg RS E R E M ek| WA peR=loppm/k | TOR =+ 100ppm/k | o brg b
(W) at40Q(W) at 70 (V) to +80ppm/k to +180ppm/k = VPP
ACDO1 1 0.9 0.01—33 36— 2.4K n/a
ACDO03 3 2.5 0.01 —390 430 — 3.3K 3.6K—5.1K
_]:iSO/o
ACDO04 4 3.5 0.01 — 620 680 — 6.8K n/a
/PxR F=+1%
ACDO5 5 4.7 0.01—910 1IK— 10K n/a
B=+0.1%
ACDO7 7 5.8 0.01 —1.5K 1.6K— 15K n/a
ACD10 10 8.4 0.01 — 560 620 — 27K n/a
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[EL A& R M F K H Z10mm
= E R E He ALK Room temperature+100C
42 B Ja) it 2K, T.C.R=(2%R+0.1Q) 10 times of the rated power for 5 seconds
. Rated voltage at 70°C for 1,000 hours
B A7 A £ (5%R+0.1Q) 1.5hr ON/0.5hr OFF Cycles
W IR R AT A A +(5%R+0.1Q) Rated voltage at 40°C ,95%RH for 1,000 hours
7 %A & + (1%R+0.05Q) 40°C ,95%RH for 240 hours
o e s At-55C for 30min, time at +25°C for 10-15min,time at
i JEHE + (1%R+0.05Q) +155C for 30min, time at +25°C for 10-15min,total Scycles.
T Y28 @ AR B £ E95% A b | 245°C £ 5°C 6945 b F 32 A3s + 0.5s
o 13 260°C +5°C for 10 seconds
R *(0.5%R+0.05Q) 350°C £10°C for 3.5 seconds
28 %% v, [H >1,000MQ 500V insulation test for 1min.
. 5 . AC voltage of 2,4,6,8,16,32 times the power rating
X R AT A AR K for 1min,(V<4 times max, working voltage)
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01=1W C6==%10
03=3W 0R1=0.1Q — 1 co C5==%15
ACD _ _ J=£5% _
05=5W 10R=10Q F= 419, C4==%20
07=7W 1K=1KQ o C3=425
B=%+0.1% _
10=10W C2==%50
C1=%100
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